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QUESTION 1

Using the -SET LOG command, what logging characteristics CANNOT be modified? 

A. The number of minutes between the start of successive checkpoints. 

B. Add a newly defined active log data set to the active log inventory. 

C. Altering DB2 from dual active logging mode to single active logging mode. 

D. The number of log records that DB2 writes between the start of successive checkpoints. 

Correct Answer: C 

 

QUESTION 2

During a recovery of a table space in a data sharing environment, what value is used to coordinate the log records
across the DB2 members? 

A. RBA 

B. LRSN 

C. ROWID 

D. SYSPITRT 

Correct Answer: B 

 

QUESTION 3

Workload Manager (WLM) manages how many concurrent stored procedures can run in an address space and the
number of concurrent stored procedures in an address space cannot exceed the value of the NUMTCB parameter.
Which statement about the value of NUMTCB is correct? 

A. NUMTCB parameter must be set to 1 for Java stored procedures. 

B. NUMTCB parameter must be set to 1 for REXX stored procedures. 

C. NUMTCB parameter can be a value greater than 1 for native SQL stored procedures. 

D. NUMTCB parameter can be a value greater than 1 when a stored procedure invokes DB2 utilities. 

Correct Answer: B 

 

QUESTION 4

Altering the DSSIZE is allowed for what type of table space? 
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A. XML table space. 

B. Universal table space. 

C. Segmented table space. 

D. DSSIZE cannot be altered. 

Correct Answer: B 

 

QUESTION 5

Which stored procedures need to be set up properly in order to register an XML schema? 

A. XSR_ADD_SCHEMA 

B. XSR_REGISTER and XSR_COMPLETE 

C. XSR_REGISTER, XSR_VALIDATE and XSR_COMPLETE 

D. The commands to register a XML schema do not invoke stored procedures. 

Correct Answer: B 

 

QUESTION 6

Which statement applies to the command STOP DB(MYDB*) SP(*) AT(COMMIT)? 

A. Does not apply to threads that were defined with RELEASE(COMMIT). 

B. Does not apply to threads that were defined with RELEASE(DEALLOCATE). 

C. Applies to both RELEASE(COMMIT) and RELEASE(DEALLOCATE) at the next COMMIT point. 

D. Applies to RELEASE(COMMIT) at the next COMMIT point and to RELEASE(DEALLOCATE) at thread end. 

Correct Answer: C 

 

QUESTION 7

To monitor the storage used above and below the 2GB bar, what must occur? 

A. Start a statistics class 1 trace. 

B. Start a monitor class 1 and 2 trace. 

C. Start an audit class 3 trace. 

D. Start accounting class 7 and 8 traces. 

Correct Answer: A 
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QUESTION 8

In a normalized design, in third normal form, the entity defined in the logical design is often transformed in the physical
design to which of the following? 

A. Index 

B. Table 

C. Schema 

D. Database 

Correct Answer: B 

 

QUESTION 9

The application will be handling a large volume of input data that will need to be added to or update 4 different tables.
On average, there will be 50 million input records daily. To ensure that the application process to SQL INSERT and SQL
UPDATE(or SQL MERGE) delivers a high level of availability to the tables involved in this application process, what is a
key component of the application coding? 

A. Issue a LOCK TABLE for all 4 tables. 

B. Execute the SQL INSERT before the SQL UPDATE. 

C. Provide an effective commit / restart process. 

D. Run a QUIESCE utility before the process starts. 

Correct Answer: C 

 

 

QUESTION 10

In determining whether a REORG on an index space would improve performance, which two of the following columns
would NOT be needed? (Choose two.) 

A. Column CLUSTERING in SYSIBM.SYSINDEXES 

B. Column LEAFDIST in SYSIBM.SYSINDEXPART 

C. Column CLUSTERRATIOF in SYSIBM.SYSINDEXES 

D. Column LASTUSED in SYSIBM.SYSINDEXSPACESTATS 

E. Columns LEAFNEAR and LEAFFAR in SYSIBM.SYSINDEXPART 

Correct Answer: AD 
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QUESTION 11

Row and column level security can be implemented using mask and permissions. Which two DB2 authorities are able to
create a mask or permission? (Choose two.) 

A. SECADM authority. 

B. ACCESSCTRL authority. 

C. DATAACCESS authority. 

D. SYSADM authority when SEPARATE_SECURITY=NO. 

E. The owner of the object as he/she has that authority implicitly. 

Correct Answer: AD 

 

QUESTION 12

What START TRACE command provides detailed lock suspend and lock contention trace information? 

A. START TRACE(AUDIT) 

B. START TRACE(STATS) CLASS(1) 

C. START TRACE(PERFM) CLASS(30) IFCID(44,45) 

D. START TRACE(ACCTG) CLASS(1,2,3) DEST(SMF) 

Correct Answer: C 

 

QUESTION 13

If a single row of the PLAN_TABLE has a \\'Y\\' value in more than one of the sort composite columns, what is
indicated? 

A. The next sort step will perform two sorts. 

B. There are multiple sorts in the plan step. 

C. One sort in the plan step will accomplish two tasks. 

D. Two sorts are performed on the new table of a star join. 

Correct Answer: C 

 

QUESTION 14

Poorly tuned memory can affect application performance, such as having sequential prefetch turned off. Which statistic
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should you monitor from the statistics report to be sure this is not occurring? 

A. PREF.DISABLED-NO BUFFER 

B. PREF.DISABLED-NO READ ENG 

C. BUFF.UPDATES/PAGES WRITTEN 

D. PAGES WRITTEN PER WRITE I/O 

Correct Answer: A 

 

QUESTION 15

The frequency of data being changed for several tables in the new Billing application is very unpredictable. A different
approach to manage Runstats for these objects is desired. To provide additional information on update patterns for the
new Billing Application, the DBA can use what information to better understand the unpredictable workload patterns on
the tablespaces? 

A. SYSIBM.SYSCOPY 

B. SYSIBM.SYSSTATS 

C. SYSIBM.SYSTABLES 

D. SYSIBM.SYSTABLESPACESTATS 

Correct Answer: D 
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